99000 vECT vECT 95000 veECT vECT € 77000 vE€CT vECT € €e000 veCT vECT € ¢c000 vECT vECT € 11000 vECT VvECT
| JV | VAR JL| T JL | TN
et TE2T € | Er000 veaT pect et e | 10 TE2T € | 07000 vEzT peet
| | | Jil-| 1 | |

| MMH | MMH ¢7000 | MMH | MMH 0¢0 | MMH | MMH
| | | | | |
et TE2T £ | Th000 vezT peet TE2T £ | 67000 vEaT pect et
| | | | | |

| MMH | MMH 07000 | MMH | MMH 8T000 | MMH | MMH
| | | | | |
et et et TE2T € | 71000 veaT peet et
| | | | | |
et et et TEZT £ | 91000 veaT peet et
| | | | | |
et et et TE2T € | GT000 veaT peet et
| | | | | |
et et et E2T £ | 71000 ezl pect et
| | | | | |
et et et ©E2T € | ET000 ezl pect et
| | | | | |
et et et TEZT € | 71000 ezl peet et
| | | | | |
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